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PART- A (General Knowledge) .
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Forces?
() DOD (B) RDSO
@ DRDO (D) DRES
2. Which of the following is NOT correctly matched? )
@) Azim Hashim Premiji - Infosys (B) Mark E. Zuckerberg - Facebook
(C) Sarya Nadella - Microsoft (D) Sundararajan Pichai - Google
3. The largest country in the world by geographical area is-
@ Russia (B) Vatican City
(C) Australia (D) USA
4. The leader of the ‘Bardoli Satyagraha (1928)" was-
Sardar Vallabhbha Patel (1) Mahatma Gandhi
(C) Vithalbhai ). Patel (D) Mahadev Desal
5. An eclipse of the Sun takes place-
(A) Oncein every year (B) When the maoon is [ull
When the moon passes berween the Sun (D) When Earth comes between the Sun and the
and the Earth maoon

6. The mineral which is considered important in maintaining electrical potential in nerves
and membranes is-

@ Magnesium (B) Mangancse
(C) Calcium (D) Iran
7. What is the expansion of FDI?
(A) Fixed Deposit Interest (B) Fixed Deposit Investment
@ Foreign Direct Investment (D) Foreign Deposit Investment
8. Complete the series.
A,B, D K
(DX ®) U
(C) X (D) H
9. Whao is the creator of the ‘Rock garden’ in Chandigarh?
(A) Pupul Jayakar (BY" Le Corbusicer
(C) M.S. Randhawa @ MNek Chand
10. Which of the following is the fastest bird in the world?
Swifs (B} Humming bird
(C) King fisher (D) Woaod pecker
"11. Who is the first Indian woman to win gold in Asian Games in 400 m run?
(A) M.D. Valsamma #8) P.T. Usha
Kamaljit Sandhu (D) Ashwini Nachappa

12. Which of the following planet shows phases like the moon?

(A) Earth @/ Venus

(€C) Jupiter (D) Sarurn
13. Chaam masked dances are perﬁ]rmtd in-
@ sikkim (B) Kerala

(L= Nagaland www.sakshiddcafibaeRitand
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WhlEFl is the capital of Egypt? .sakshieducat
(A) Bishkel @ Caitp
{Cj DM‘ g Sﬂ]ﬁ.ﬂm (D} thﬂ

15,
What wqg the real name of Chanakya?

A
() Sudrekq (B) Bindusara

I '
autily,, s imes (D) Vasubandhu
1
6. Iht Curtency of Russia is:
ici i;ﬂu @ Rouble
e50
(D) Euro
17. Which of the following is the largest committee of the Parliament?
';fﬂ The committee on public accounts- @ The committee on estimates

(C) The committee on public undertakings (D) The committee on petitions

18. Which part of the Indian Constitution deals with Fundamental Rights?

(A) Partl (B) PartII
@ Part 111 {D} Part IV
19. Which is the State fruit of Telangana?
{ﬁ} Eﬂﬂﬂn‘a @ I".Iangg
(C) Orange (D) Pineapple
20. Which Indian State is expected to become the first State in India to go cashless?
@) Goa (B) Sikkim
(C) Assam (¥ Kerala
21. If COLLEGE is written as DPNJHDI in a certain code, then how is EDUCATE written
as?
@) FEWADQI (B) DUCATEE
(C) ETACUDE— (D) DECUTAE
22, The Vice President is elected by-
(A) Governors (B) Chief Ministers
(C) Members of the State Legislative @ Members of both the Houses of Parliament
Assembly
23. Which country won the 2016 Davis cup tennis tournament?
ﬂrgcm;im" (B) Switzerland
(C) Serb# (D) Croatia
24. The largest gland in the human body is-
@ Liver (B) Endocrine
(C) Pancreas (D) Pituitary
25, Which dam is built across the river Mahanadi?
(A) Bhakra Nangal dam @ Hirakud dam
(C) Nagarjuna Sagar dam (D) Sardar Sarovar dam
059 t‘l?}t!:
vt
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10.

11.

aar\a c\JUbd lTUIT COfI

oa LE By BE" D DPIAD rodab dag Sveud JoBIS?
(A) DOD (B) RDSO
(C) DRDO (D) DRES
808 LE ) TAS" DA PO w6 ?
(A) o5 orbo Hhy - #SyB5 (B) arfy, [ 25638 - vRy5
(C) oy oovy - REFD (D) avoascred badh - Arid
2330 pood drud’ LY ddo DA?
() o (B) orebsS rido
(©) vhbasr (D) vos
‘8 porjare(1928)" dws), rabics-
(A) Db 26 ol 08¢ (B) svzrory mobd
() Degy, J. 086 (D) azrds dvdh
Argg firno S348-
(A) 29 de=afsro (B) Do gy

(C) Sogen aardy D3 oo &rnd gy (1) ardyes u0ain dogudd ugrec drly
Tdody @ 20335

Degd #3020/ dugdd TeQawd 2, Arud i oS R/ edh A oo 03RO BIBT

mgnduﬁ.ﬁﬂ-
(:\) 2ofybaws (B) arenfh
(C) s=fatoo (D) 205

FDI cws) yrs arde Doue?
(B) &y ad] ot

\) DEy adas oty
(D) 265 adrad 2D ol

(C) 385 285 w2 el

o L85 2 78 daboc.
A, B,D, 2K
(A) G B) L
(C) X (D) 11
Sednb &'rio ‘o8 mahy Ayheg JdW?
(A) ppes Bavsd (B) & Earbond
(D) 2% orob

(C) ML5. gobrg

docs L)) TS pLoded’ ©IBADOWD od Dar

(A) ~sB (B) o206 b

(C) o a6 (D) & vsbé
400 Syog DBRE* Dhabh Ay Agge FEeAD §D orddab v Jad?
(B) PT.
(A) M.D. sroyay J | I a3 "
(C) 5;3_-.5.5 o W-Saksﬂédjcaﬁ%@mj ::
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d#vd drd Dag gare DaAM-

(\) zrin (B) oo
(C) oyoraya (D) 32gordw
¢ orlo arly), § cdyw Ao,

(\) Bo (B) dov

(C) Tmreros (D) argol
@ad oaged Da?

(A) Dy (B) g8

(C) o6 2B pers (D) &¢es”
Trwad v bd?

(A) zarde (B) Dotodo

(C) sougw (D) steoc
63y 53Ry -

(A) ey B) arewd

(C) »r (D) etarg
308 LE) By o8 rgooty dwe), ©IDG god Da?

(A) DO wgothy st (B) vesmo 208

(C) 2DE wocd Bdch v SIS (D) bias shod
EHaD ramjeoed’d D arred’ s rh)0 bed dDyudod-

(A) erdaw | (B) eraan 11

(C) errdw 11 (D) eraaw 1V

duarroe T:ﬁ buo D87

() wodd (B) ard

(C) wdod (D) ward Do
rdddded SO A dird o gorr DEddDHBI0H?

(4) Ao B) %30

(C) ey (D) 3ov

283¢ COLLEGE w3 9do w8 dofa £& SDPNJHDI o grabedd wd §& ¢ EDUCATE R
Ddeerr orodry?

(A) FEWADQI (B) DUCATEE
(C) ETACUDE (D) DECUTAE
(o ALTHD0 ddv) Sudord.
8
(AA) fadyd (B) awaidvegoew

(C) oy wadns sz (D) Srgauotn edabd ATV PN

2016 225 85 083) 5 E'dy20l5 I Do Aendy Dy &7
(4) uE&éﬁ:ﬂ' (B) :}B-EE‘GI:E.

(C) 28\l
\ ] = o www.sakshieducation@r; g'ﬂjbw
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(A) 0at (1Y aurtds
(C) dodatrd (1) Lhaneis
25, Motsops A0Leds myh HA?
() arET Aot e (1) dpueead r'.";lfu
() mrrrgod eb ey (1) fogrts o 40 s S

PART -1y {Mnllll ||m|h q]

16.0
26. If q"— = y caleulate the value of 'y
166

@um (1% .l
(C) 1 (1) 10
27. The angle of clevation ol a tower from o distance 50 o from He fere b 307, Hinied thie
height of the tower.

Al

() Sﬂuﬁm @ J..ru
() ?S\ﬁm (1) %m

28. Find the rate percent of discount for a scooter which cost Z 8000, 0F the purclaser paid
T 7800,
(\) 1% (13)1.5%

© 25 (12) 5%

29. Find the complement of 68°,
@ 227 By 21°
C) 25° (1) 26°
30. A cistern is normally filled in 8 hours but it takes two hours longer to il the tank because
of a leak in its bottom. If the cistern is Mull, the leak will empty it in how many hours?

(A) 24 hours (13) 30 hours
(C) 34 hours @ JU)} howrs
31. Whatis %"ﬂ"i of 807

11 |4
Ay — i
S :

25 33

i Bl ==
(C) p (19) i

32, If V3249 =57, the value of V32.49 + J0.3249 + 0.003249 + /0.00003249 js:
(A) 05757 (B) 55757
(C) 5.75757 ®) 63322

33. The ratio of number of women to men at a party was 1 : 2, but when 2 women and 2 men
left, the ratio became 1 : 3. How many people were originally present at the party?

(A) 10 (B) 1

12 www.saF(QilledLIJc}ation.com
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M. Nine Dersons wont w a hotel for taking thele meals, Elght of them spent T 12 cach gy

lh:ph Meals and the ninth spent TR mare than the average expenditure ofall the pjy,
WIat wins (e ol amonnt spent by (hem?
(:j) T10H

. ) 21
(€) N5

(1) T 117

I A versel fall of water welghs 10.5 kg, When the vessel is 1/4 full, itweighs 5.25 kg, Fing
the welght of the empty vessel in kg,

(A 1125 K
el @) 1.
" Ean {]'}'} .]'

Ao can row b ken/he bncthe sl water, 11 the river is eunning at 2 km/hr, it takes him
3 oues o row 1o LIRS wond haek, 1o lur Is the ['II'.IH‘?

R 11 E

(Y 7 B ki
(t ] 1 ki {”} 10 ki
370 Find the amount on € 4000 for 2 years ot 5% per annum Compound Interest,
@ o (1) 4450
() 510 (12) T.1550
28152
38, Reduee to its lowest terms,
238508
3 5
(N = e —=
1 ®) I3
i Y
O 5 O3
It 25
39, Evaluate: (T log L5 log - +J3 log dl
15 24 80
@ lowgy 2 (1) log 3
(C) log 5 (17) MNone of these
40, Find the least number of 3 digits which is exactly divisible by 14,
(A) 104 (1) 108

12, D) 116

4L 1T 85 amounts 10 95 in 3 years, at the same rate percent, what will 2 102 amgont t in
5 years? ¢

() T110 @) 2115

() T 120 @zm:

42. A man walks to his office at 5 km/hr and then goes back on a rickshaw at 15 km /hr. Find
the average speed for the whole journey.,

(A) 10 km/he (13) 3% km/hr

I 1
Yy 9= km/hr i
(C) . @ '.i’2 km/he

43. The perimeter of an isosceles triangle is 100 cms. If the base is 36 cms, find the length of
the equal sides.

@ 32 cms (B) 35 ems
(C) 36 cms (D) 40 ems

www.sakshieducation.com
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M1 merchant eatmates hls proficus 207 of the selling prict, gd it

Percenty

(AJ 200 @ D5

(C3) M (1) ¥
18, V24 & ¢
Yo x0.2
() 10 @
{t.) ¥ () 14
A6, 11 tye 1otal amonn et duddng the year 2005 was 46000, the amount spent on food
WA

Pevcent ol mancy spent by u Family on varlus
bens dlirdog 2014

Havings 15%

(A) T 2000 (15) T 2300
2 10540 (1) 2 23000

47. Mayank and Siddanth can do a picee of work in 12 days; Siddanth and Charan in 15 days;

Charan and Mayank in 20 days, How long would cach take scparately 1o do the same
work?

(A) Mayank = 20 days, Siddanth = 30 dayys, @ Mayank = 30 days, Siddanth = 20 davs,
Charan = 60 LI;L}-:. Charan = 60 days :

(C2) M:'l:.':'m'i = M) days, Siddanth = 30 days, (1)) Aayank = 20 davs, Siddanth = 20 davs
Charan = 00 days Charan = 60 davs I

48. Anju, Sarayu and Charu enter into partnership with a wotal of  8200. Anju’s capital is

¥ 1000 more than Sarayu’s and ¥ 2000 less than Charu’s. What is Sarayu's share of the
year's profit of ¥ 24607

(A) T 400 () T 41
@uzu (D) T 4307

49. The height of an cquilateral triangle is 433 cm. Find its area.
() ﬂﬁcm"‘ (B) 8J3em?

(C) 1243 cm? @ Iﬁﬁtmj

50, The smallest number which when diminished by 7, is divisible by 12, 16, 18, 21 and28 is:

(A) 1088~ © 105

(C) 1022 (D) 1032

www.sakshieducation.com
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~ PART-B (Mathematics) _ﬁ‘-\—j

16.
26. -..Jr; = ___E wowd, X Q) IV ﬂéhmjné.

166
(A) 0.01 (B) 0.1
(€) 1 D) 10
27. w2 L3S dog) e el 50 obg ardand' was dwsg), dgv Enaw 30°. L36 Qs vy M’?M
() 50y3m i i
A8
75
(©) 75\3m D) :Fm
3

28. 8000 v Dewa v L8 APYLOD 08 S o T 7800 w 3DodALand, 80 Tedd rand
Lol B ALER ﬂmfbnd.

(A) 1% B) 1.5%

(C) 2.5% D) 5%
29.  68° clwg), 16 wode Fnin L) oA,

(A) 22° (B) 24°

(C) 25° (D) 26°

30, wg 236) arawrwm § dobus’ Decoduod, wond ovD BEDS fu Le dogaw oo 50T 3208 wa
[T
eSS Jod fobiw RAZuabo Dy S DR, LS "‘ﬂﬁl Dedarmr adyoand, o degdy T 2wds
P sacnd Iy fiebiw Advabe JiwDetned?
(A) 24 Aotew (B) 30 dotsesn

(C) 34 dotrews (D) 40 Aassen

31. 80¢& %'}"E Jod ?

11
(@) = B) =
.
25 h
C) = oy 22
() p (D) =

32. /3249 = 57 aost, V/32.49 + 03249 + 0.003235 + V0.00003249 Dens a0
(A) 0.5757 (B) 5.5757
(C). 535757 D) 6.3327

33. wsgrod'n b pone Roxf dlug) dayg 1: 2. 03, 2 e Jdatw 2 ey 28020,y ¢

I3 113 096008 . v roE >vsem Jesas08 S Faudmr aodrg?
12
(C) (D) 13
34, S8 2ea
3O 08 JjHen Faudo IHEIF 08 Fu & vy, MBS IS o8 oay Fud LEHS
¥ 12 soc0n vy o S5 314 2wae §op
T8d pdy dabedd Swdo ﬂ‘m.il Jdoa?
(A) 2108
(C) 115

U:' aod ﬂnﬂb ATy AV ”mﬁ sodd ¥ § ;%; pdy Ay,

(BY T 111
www.sakshieducatio“:_g?q 7 117
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35, HOF Dochir ady wd drd due, uhp 16,38 ECTaE s, Hocarm 83D, v 5.25 4w

drtbaed. ard g dud), b d6'ud dw)ed.

(A) 1,125 (B) 1.5
<) 2.5 (13) 3

36, 00 Dold HOS' ot 6 4% Sy vad Acdrud, widv 36 DY ro® 2 42 Jdand

fatrapisyhand, Ll SO 4D Aczpotir D) J6N IS woI I ALY Aabaw dcadued.

o S'en Jod Ardan aod?

(AY 7 km (13) 8 km
(€) 9k (12) 10 km
3. Rodaywnd 5% 3838 TA000 b 2 podeyoro eaby Jndand daubec.
(A) 10 (13) T 4450
(C) L1510 (1) T 4550
128352
38, A o000 wdjuy DoTUD Ofloded,
2IRION
5
A - I3y —
() y (13) T
7 9
C) — D) —
*) 13 ) 13
) 3 71 lﬁ+.!'.-r| 25+:’:-I Hl]
J o :,EI oo O — ofr — 0 —
’ 15 24 80
(A) logp 2 (13) oy 3
(€2} log 5 (1)) 2220 =

40, 1448 .::!;,aaun- riedud ©d D& I3 velu oy um%‘bu&‘
(A) 104 (B) 108

(C) 112 (13 116
41, eogdv ¥ 85 2ndo 3 doddyored T 95 wanadd, vl 3¢ s’ 5 HedoyoruD T 102 uh Jed 2ndo
eadaed?
(\) Tio (B) T115
(C) T120 (D) T 122

42, wsabd 63 udbm 5 8/ de Jred' Ao Letsr DVordy dain 15 45 /de 3res' 08A o .

©6 Jwde Buirne ) ATRd Sio-

(A) 10 km/hr (B) Hé km/hr
. | |
(C) 9= km/hr (1Y) 7— km/hr
2 2
13, ws# AWOLEITY Jrbsaw dlng), WinSud 100 cms. grds dsg 36 cms wawd. Ha ssve Fepd
Imﬁ'bad.
(A) 32 ems (B) 35 cms
(C) 36 cms (13) 40 cms
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B

j ' Soud erdv Ay
4. we :.";Ehh 03 erginds, e 2L A ﬁ%smfgﬁcﬁfﬂﬁrﬁhaywﬂ, edd PSS Jeai

(A) 200% (B) 25%
(C) 30 (12) 35%
TRl D
36x02
() 10 (13) 11
(€) 12 (D) 14

46. 283w 2015 Doddy0os’ py 3DA 2nde nad ¥ 46000 voands, wirdand pdy e

Gy do 2015 eli0kets® DG et

Er&aly 15%

werd 23%

(A) % 2000 (B) % 2300
(C)} % 10580 (D) T 23000
47. w8 22D Moirof bt Sgred 12 Berod'ar, Horod dobaty 36l 15 Ferud'ar, 3of Sobaw
Soairod 20 Frod’ar dabriud. &)%) Dd DAM vl 532 dabedd 30 ) Feren Stuwetrw?

(4) 2ooirob = 20 Barew, Bgred = 30 Haven, (B) dvatres = 30 Bavew, ~rod = 20 Bew,
G = 60 Been Soes = 00 Berens

(C) &vaires = 30 Been, Bgrod = 30 Baen, (D) dweiros = 20 Bevens, Rred = 20 Eeew,
Sdcs = 60 Baen Sadh = 60 Baven

48.  worr, Doy, Doty ord Awde ¥ 8200 u& Le AR ANE" 3o, wor aws), Deond, Ao
Diwed gl T 1000 d2)d obatn o o F 2000 B0, Deddyde ds) ergaw T 2460 & voaw

e Jed?
(4) T 400 @) T 410
(C) T 420 (D) % 430
49 e pwov grbasw aws), 80 43 em, o) DT OB S8 0d,
) G\E cm’ (B) Eyﬁ cm®
(€) 1243 em? ©) 1643 cm
50. D ©d %) Dowf Med 7% SA3abem, wa 12, 16, 18, 21 bt 28 & Djanm griiedncded :
(A) 1008 (B) 1015
(C) 1022

2
www.sakshieducation.corfzn[:]:I 1052
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51. (:||||1|1||:r1* the Fl’ﬂ‘-"t'll'l :
Don't count your ______ before they hatch.

(A) Money @ Chickens

() ippes (D) Goars

52, ’hlcmif}r the correct sentence from the options given helow.
(A) 1T am happy then (1) 1happy now
(C) T am happy all time @ I am happy now

53. Choose the correct word /phrase to complete the following sentence.
Would you mind ’
(A) 1 you close the window (3) If you closed the window
(C) 111 elosed the window @ I£1 elase the window

54, Choose from the four options, the word that best substitutes the given phrase.
An institution where mentally ill people are cared for.

(AA) Hospial (B} Orphanage

@' Asylum (1) Camp

55. Choose the correct synonym of the given word from the options given below.
EXECUTE
(A) Kill (B) Hasten

@© Finish (D) Make

56. In the following question, cach sentence has four portions marked P, Q, R and 5.
Rearrange it in the proper sequence in order to make a meaningful sentence.

What he was saying (P) / that I could hardly hear (Q) / the telephone line (R) / was so
bad (S)

@ RSQP (B) RQPS
(C) QRSP (D) QRPS

57. Choose the correct alternative which will improve the quoted part of the given sentence.

My brother ‘is good at’ languages.
(A) Speaks (B) Is goodin
(C) Speaks few @ No improvement
58. Choose the correct preposition from the given options to complete the sentence.
She was impressed the beauty of the bird.

@ By (B) L?I‘

(C) For (D) Upon

59. Choose the correct antonym of the given word from the options given below.
WAIVE
@ Retain (B) Imprson
(C) Snub (D) Dusplay
60. Choose the correct synonym of the given word from the options given below.,
FOSTER

@’ Promote (B) Discourage
i .
() Front wuw Sl S SO
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61. Choose the correct alternat UK \GAIPIRBrove the quoted part of the given Sentene,
I ‘have seen® him yesterday.

(A) Was sr:emg @ Saw
(C) Had Ef.‘ting (D) Noimprovement
62. Choose the alternative which best expresses the meaning of the idiom/phrase given
below.

There is no use ‘beating a dead horse’.
() Should not beat a dead animal (B) Should be kind to horses

(C) Keep saying something you like because @ Keep doing something which is funle
others like to hear it

63. Choose the correct tense from the given options to complete the sentence.

Men _ duels in the past.

(&) Fighe @ Foughe’
(C) Fights (D) Has fought
64. Use the appropriate article for the sentence given below,
Can you speak Hindi?
(A) An (B) A
(©) The @© No aricle
65. Choose the correct question tag for the given sentence.
Come here, ?
) Should you Don’t you

@nammu @mmmu
66. Choose the appropriate word to complete the sentence.

If T had not come along at that moment, Rahul arrested instead of the real

thief.
(A) Might be (B) May had been.
(C) Will be (@©) Could have been

67. Choose the correct conjunction from the given options to complete the sentence.,
She has changed a lot I saw her last.

(A) From (B) Before
©) As © Sivce
68. Choose the misspelt word.
(A) Comprehensive (B) Rhetorical
(C) Estuary @Couabrcﬁw

69. Choose the correct antonym of the given word from the options given below.

ERODE

(A) Corrode (B) Compost
@ Presesve (D) Clanfy
70. Choose the correct verb from the given options to complete the sentence.,
Theclergy  worried about the Pope’s failing health.
(A) Is being @ Are
(C) Was being (D) Had been

www.sakshieducation.com
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Directions (Q. 71 - 75): Read the followisgspetieage comrcfully and answer the questions
given below.

Nethra says that all of her friends have a ccll phone, but Nethra’s mom docsn’t want to
buy her one. MNethra's mom doesn't want Nethra to pln}r video games either. What is more,
the Internet scares her. Nethra’s mom says, “If Nethra has a cell phone, how do we know
whom she is talking to? Video games are bad for her, The Internet is dangerous and
uncontrolled. It's like having a gun in the house. We should just ban her from vsing the
computer, and I'm not buying her a cell phone until she is cighteen. This is the only way
we can be sure that Nethra is safe."

Nethra’s dad disagrees with Nethra’s mom. Although he agrees that there are some
dangers to it, he likes the Internet and finds it to be very uscful. “The "l'.llll.'lll_‘ll'."-:," he says,
“We just can’t stop Methra from using the Internet, as this would put her at a disadvantage,
What is more, I like video games. I think that, when played in moderation, they are f!_m.
Obviously, it is not good to play them without restraint or self-control, Finally, I think
Nethra nceds a cell phone. We can’t take these things away.”

71. Which of the following best describes the difference between Nethra’s mom and

Nethra's dad? |
(A) Mom wants to ban Nethra from using ~ (B) Mom thinks technology is dangerous, while
the computer, while dad likes to play dad thinks it can be uscful

video games _
(C) Mom cares little abour Nethra'’s future, @ Mom is very strict while dad is open minded
while dad is very supporuve

72. In the passage, Nethra’s mom says, "It’s like having a gun in the house." She says this in

order to-
Support the idea that the Internet is (B) Reject l!‘lf claim that guns can be sale if used
dangeroys responsibly
(C) Encourage Nethra’s dad 1o purchase a (13) Explain why the Internct is uncontrolled
gun

73. Which of the following best describes the similarity between Nethra’s mom and Nethra’s

dad?
(A) Mom and dad both like technelogy (B) Mom and dad both think video games are bad
@ Mom and dad both think the internetis (D) Mom and dad both care about Nethra's
dangerous wellbeing

74. In the passage, Nethra’s dad says, "We just can’t stop Nethra from using the Internet, as
this would put her at a disadvantage.” What does Nethra’s dad mean by this?
(B) MNethra should not stop using the intcrnet

(A) Nethra needs to learn how to use the uld . .
because this will seriously slow her learning

internet if she wants to have friends in
the future

(C) If a person’s ability to use the internet
becomes important in the future, Nethra

will be at adéss n:v:ngnizc s dnngcr:i

If Nethra does not learn to use the internet
on her own, then she will never learn w

75. Nethra’s dad can best be described as-
(A) Shameless (B) Foolish

(C) Wild @ Reasonable
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